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SECTION A: (40 MARKS) &7
Q
>
Answer all the questionsin thissectior)bc;ﬂche spaces provided at end of each question
Q
2

1. State the function of following t as used in word-processing. (2mks)

(@  Dropcap ?

R
.\\.
g
%
e @ e
&
(b) Footnotes
Q’b’
<
&
2
&
e
<
\\
<
2 Outline four attributes of a good system analyst. (2mks)

3. State three functions of Read-Only Memory. (3mks)
4, Convert 57.375; to binary equivalent. (2mks)
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5. A computer virus can be spread into the compglfé?s through infected external storage devices.
State four other sources of virusesin acorgéhter lab. (2mks)
%\,
&
R A
@
"
X
.\\.
g
%
.....Qe}....
~ ¢
R R
6. ﬁb%mer had a document of 20GB in ahard disk. He wantsto transfer the document into a CD of
MB. Determine the number of CD’s he requires. (2mks)
&
e
<
\\
&
7. Highlight two advantages of using digital signals over analog signals. (2mks)
8. @ Differentiate between video conferencing and telecommuting. (2mks)
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o
(b) State any two devices that are needed <5}0°1‘é\cilitate video conferencing.
Q
\be
...........('9............................................................................
Q>
R
)
)
@
9 @ What is atemplate?
6\
$H
&
\..Q’Q‘....
..
<
e(é? State two reasons for the inclusion of templatesin most of the software packages.
&
e
<
\\

10. List three instances in which data integrity can be compromised.

11.  Statethreefactors that dictate how windows organizes information.
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o
12. (3a Define computer based learning. Q}g (Amk)
Q
\Q{b’
..........('9............................................................................
Q>
R
)
)
<
(b) State two adva\nlages of computer based learning. (2mks)
N
&
...\..Q’Q‘....
..
<
&
&
1%.@ Explain computer based simulation, giving an area of application and an advantage for simulation
@* program. (3mks)

&

14.  State any three ways of ensuring that the passwords remain effective as a security control measure.
(3mks)

15. Give two reasons why system maintenance phase is necessary in SDLC. (2mks)
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SECTION: (60 MARKS) &7
Q
>
Answer gquestion 16 and any other thr%@q%estionsfrom this section
Q
)

16. (3a Define the following asu n programming.
(i) Structured prog{@@’lmi ng.
\

-
@
=
X
%QQ:.....
9
&
& (i) Syntax.
<
<
<<&
<
@K

(b) Write a pseudo code to give out the sum and average of the first 50 numbersin the series:

2,4,6,8,10...
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(© Draw aprogram flow chart for the abcg}«é’éase.
Q
\be
2
R
@
et
2
&
.\\.
N
%
&
N\ Q‘b
s
%
&
2
&°
e
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17.

Q

O
@  Covert Q}@‘
) 10111011.0111;, to Octal. QQ&
%\,
>
R
2
&
2
R
.\’\.
@
e}?..
&
g@) 32.46g to its Binary equivalent.
4
<
&

(iii)  5E61sinto Octdl.

(2mks)

(2mks)

(2mks)

(b) ) Using TWOs compliment in 8-bit notation perform the following arithmetic leaving your

answer in decimal notation 131 — 204p.
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(i) Use one’s compliment to solvegtﬁé following sum: -18;9 + 233.
Q
\be
........('9........
>
R
)
RTINS
)
@
6\
\3
(© () S@éthe purpose of the use parity bit during data transmission.
N
2
Q
s
@Qx
Q‘L‘ (i)  Statethe place value of 3 in the number 436.5g.
&
e
<
\\

18. (3d Using awell labelled diagram, describe and give any one advantage of the bus network

topology.
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(b)

(©

<%

Q
OO

State any two applications of Bluetoog}cféchnology. (2mks)
Q
\be
””““”(‘b,‘b.”.”.”.”.”.”.”.”.”.”.”.”.”““”.”““”““”.”““”“”'”

Briefly d@ér\ibe the three components of satellite transmission. (3mks)
N

%\.

(d)

State two disadvantages associated with the peer-to-peer network category over client-server
network. (2mks)
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(9  Differentiate between WLAN and WPAR. (2mks)
Q
Q

T O ST OSSP O PEOPOTEOPEOPROTROTOT
Q>

()] Why are p?ni%\rowave antenna and aerials concave in nature? (2mks)
N
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@Q‘&%
o

&QJ

¥

R 19.  John went to the supermarket and bought the items shown in the picture of the spreadsheet given below:
<

€) What isthe reference of the active cell? (Amk)

(b) ) A cdll can contain aformula. Name the other TWO items which a cell can contain.
(Amk)
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(i) A new employee hasjust joi nqg{fﬁe company and does not know the difference between
aformulaand afunction. Y.gl are required to explain thisto her in the space provided

below. Support your ex ion with an example of each. (3mks)
0) Formula R
@
o*
X

N
EZEXAMPIEE

%
¢N)  Function.

Q
\.Q(a'
&
<
&
<
&°
<
@* XML e
& 20, €)

The following are some of the phasesin the system development life cycle (SDLC): system
analysis, system design, system implementation, system review and maintenance.

State three activities that take place during system implementation. (3mks)

(b) The main interest from a system isinformation (output). The output is usualy in the form of

reportsi.e. either in the form of hardcopy or softcopy. Outline four factors that should be
considered when designing an output. (4mks)
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(d)

Q
OO

State two instances where may not be aiable method of gathering information during system
&

analysis stage. R (2mks)
\Q

&

R

%
Discu§>hny two changeover strategies in system implementation. (4mks)
>

R

Q‘b’
&

(€)

State two reasons why an organization may use other strategies of software acquisition rather
than developing their own. (2mks)
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